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Year 6 Enterprise: Chocolate Bar Task

	Form of Advertisement:


	Cost of Advertisement:
	Number of people who see advertisement:

	Poster


	£250 for 1000 posters
	1000 posters =

250,000 a day



	Billboard


	£5000 for 50 billboards
	50 billboards = ½ a million a day



	Bus advertisement


	£10,000 for 100 busses
	100 buses  = 1 million a day



	TV advertisement


	£15,000 

for 1 advert, can be shown as many times as you wish


	7 million each showing


If there is another form of advertisement you want to use that isn’t on the list see your teacher for their price. 
